I have a few pretty simple questions regarding a limiting reagent in a synthesis reaction.
note: _#_ is subscribt
just some backround data:
mass of NiCL_2_ + 6H_2_O = 3g
mass of Ethylenediamine used: 2.85g
initial moles ethylenediamine: .0474 (I think)

product formed: mass of Ni(C_2_H_8_N_2_)_3_CL_2_: 3.597

the questions I need answered;
-theoretical moles of product, based on stoichiometry.
-molecular mass of product
-theoretical mass of product formed
-actual mass of product collected (I would assume that it is 3.597)
-percent yield of product.


Then, I need to know these other questions:
can the percent yield be increased by increasing the amount of the li miting reagent. be sure to explain relationship between limiting reagent and theoretical yield; and theoretical yield and percent yield. and to identify three things which could occur experimentally and lead to a yield of less than 100% of theoretical
. <- this does not have to be very long, just enough to explain.

2. What might account for a calculated % yield greater than 100%?

and finally:
address the following:
-the solution volume containing dissolved nickel chloride is found to be greater than the amount of water added to dissolve it. explain this result.
-Ethylenediamine is colorless. In half of the reaction mixtures studied nickel chloride hexahydrate was limitng reagent, meaning that ehtylenediamine was in excess.. however, none of the filtreates were colorless. What accounts for the observation?


If you have any questions about any of the questions or data, message me as soon as you can! 

